slope(ppm/um)

50

40

30

20

10

-10

usl_4aX

h 00
Entries 82
Mean x 1482
Meany 40.21
Std Dev X 14.86
Std Dev y 10.61

| | |
1500

cyclenum




slope(ppm/um)

-1.5

-2.5

-3.5

usl_4ayY

cyclenum

h 01

[ Entries 82
__ % Mean x 1482
- P ) Meany -2.824
L °, ® Std Dev x 14.86
- . s e Std Devy 0.7135
| e 'y [ ]
B e
L o
— . . s
- ° ° oo
__ o9 (]
| ' ° [ ] ..
- o0 @ [}
B [ ] ... ° o0
_— [ oo .. [ ]
R :
B 1 1 1 | 1 1 1 1 | 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1

1460 1470 1480 1490 1500




slope(ppm/um)

-58

-59

-65

-66

-67

usl_4eX

cyclenum

_ h 02
= Entries 82
— ] Mean x 1482
= Meany -64.39
— Std Dev x 14.86
= Std Dev y 1.891
= . :
- e c", . %
- 8 °
:_ * (X}
- [ ]
= ’ ¢ Setw
- ° [ ]
— °
1 ] ] | ] | ] | ] | ] | ] ] ]

1460 1470 1480 1490 1500




slope(ppm/um)

20

19

18

17

16

usl_4eY

h 03
Entries 82
Mean x 1482
Meany 17.85
Std Dev X 14.86
Std Dev y 1.129

LN PO

| | |
1500

cyclenum




slope(ppm/um)

-29

-29.5

-30.5

=31

-31.5

-32.5

-33

-33.5

usl_11X12X

cyclenum

h 04

- Entries 82
— Mean x 1482
= Meany -31.38
— o Std Dev x 14.86
= StdDevy 0.9724
E (] ®e
I [ ]
— ‘3 Foion o s
E e ’. “ o . [ ]
:_ [ ] s o0
— oo
= °e
E ®e ® g
— .
— o°®
— &
_I 1 1 | 1 1 | 1 1 1 | 1 1 1 1 | 1 1 1

1460 1480 490 1500




slope(ppm/um)

10

-10

-15

usr_4aX

cyclenum

h 10
Entries 82
Mean x 1482
Meany 3.3
Std Dev x 14.86
Std Dev y 4.698
°
1 | 1 1 1
1500




slope(ppm/um)

usr_4ayY

cyclenum

h 11

- Entries 82
— °% Mean x 1482
— Mean y -2.682
— Std Dev x 14.86
— Std Devy 0.6704
: ® ® L)
— [ ]
= " d .
- s * »
__ )
— .. [ ] [ ] 8 ' [y °
= L ] .'
- s
- 4 H oo %
L oo
:_ o0 A ® e ..
- . et
B 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 | 1 1 1

1460 1470 1480 1490 1500




slope(ppm/um)

35.5

35

34.5

34

33.5

33

325

32

315

usr_4eX

cyclenum

h 12
Entries 82
Mean x 1482
Meany 32.75
Std Dev x 14.86
Std Dev y 1.191
[ ]
Y
F
o: o . .00.’ '03
) e .. ( 1] ® o0®
1 | 1 1 1 1 .l 1 1 1 1 | 1 1 1
1480 1490 1500




slope(ppm/um)

18

17

16

15

14

13

usr_4eY

cyclenum

h 13

L Entries 82
~ *, | Mean x 1482
B Meany 15.66
- » °, © Std Dev x 14.86
L e ° Std Devy 1.019
| % %
L e P
B 3,
: ..: A LN )
B [ ] . ¢ Ce ()
B [ o0 o p )
- o oo
- ° ¢ o .
- [ Y 1] °
- .. [ ]
B °
- [ ]
| 1 | 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1

1460 1470 1480 1490 1500




slope(ppm/um)

usr_11X12X

h 14
—315 . Entries 82
— hd ) Mean X 1482
-32 — Meany —-33.58
- ® StdDevx  14.86
-325 — o, - StdDevy 0.9676
_33 :_ '. 9.
— .O‘. » O: L/
— [ ] [ ] [ ] ° ° . .
-33.5 = 2 ', 8 e
— o0
-34— ®
E o° o9
-34.5F—
— Y o.
-35 —
E 7 i
-35.5—
-36— °
L [ ]
- 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1
1460 1470 1480 1490 1500

cyclenum



slope(ppm/um)

-10

-20

-60

=70

atll_4aX

cyclenum

h 20

T . Entries 82
- ® e Mean X 1482
— Meany -54.13
— 'S Std Dev X 14.86
- Std Dev y 17.5
— o,
— v ®
:_ %
— . )
— %
:_ [ ) s ¢ ° .0. .
— %% o ]
— o <
— o Joo° ® % ¢ Qe
: 1 1 1 | 1 1 1 1 | 1 1 | 1 | 1 | 1 1 1

1460 1470 1480 1490 1500




slope(ppm/um)

22

20

18

16

14

12

10

atll_4ayY

cyclenum

h 21

— o Entries 82
— * Mean x 1482
- Meany 11.64
— Std Dev X 14.86
— Std Dev y 3.264
— ]
— [ ] PY
— o
— [ ]
— o8 o - ¥ :
— ® f. ..
— g % oo °
| P
ey ’ ool R IEY
__ [ ]
[ [ ]
- % o o®
[ 1 1 | 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 | 1 1 1

1460 1470 1480 1490 1500




slope(ppm/um)

125

120

115

110

105

100

95

atll_4eX

cyclenum

h 22
— Entries 82
— Mean x 1482
— Mean y 110.1
— Std Dev X 14.86
- Std Dev y 5.188
L ]
= .
_ . e e P e
— [ ]
L °o 0y e .o. !. e, 8. ) .. :.
']
— o9 PY ) [ ]
- s°
- o®
| oo,
— % o
B °
I [ ]
_ 1 1 | 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1
1460 1470 1480 1490 1500




slope(ppm/um)

=35

-50

=55

-60

-65

=70

atll_4eY

cyclenum

h 2 3

— o Entries 82
. ° ° 4 . Mean x 1482
— e '. Meany -47.15
— . " Std Dev x 14.86
= ¢ o < % SdDevy _ 6915
: °
- : LS S
__ L [ J (Y e °°
- ol . .
I o
: [ J
L L
— °,
— [ J
_ 1 1 | 1 1 1 1 | 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1

1460 1470 1480 1490 1500




slope(ppm/um)

atll_11X12X

120 _h24
— o Entries 82
— ® Mean x 1482
110 — Mean y 71.53
— Std Dev X 14.86
— Std Dev )
100 — y 10.9
— ]
90 [—
— [_J [ J [ )
80— ° o.
— [ )
- ° s 3 o
20 — = ..c H.:_‘._O_.:._“ % s
- o . .
60 —
- et
50— e d
— [ ]
[ 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1
1460 1470 1480 1490 1500

cyclenum



slope(ppm/um)

atl2_4aX

h 30
— - 0 Entries 82
240 - % ... . ™ L % Mean x 1482
I [ ] .
s . AR ) Mean y 214.3
B %, . Pe P ®e ¢ Std Dev x 14.86
220}— oo ° W Std Devy 38.31
n ce °° ¢
200 —
180 —
160— oo
B s
140 — o
S
— [ ]
120+— o
B 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1
1460 1470 1480 1490 1500

cyclenum



slope(ppm/um)

-34

-36

atl2_4ayY

cyclenum

h 31

~ o Entries 82
L ) d Mean x 1482
_— Meany -27.01
— ° o .. o Std Dev x 14.86
__ b o s ° Std Dev y 3.34
— )
- ‘ .. ‘
__ ®e
B ° [ X [ ] ‘
- e e Vs
: X
- oo oo
B 2 e, o®
__ ®
— [
| °
B 1 | | 1 1 1 1 | 1 1 1 | 1 1 1 1 | 1 1 1

1460 70 1480 1490 1500




atl2_4eX

slope(ppm/um)

h 32
— Entries 82
— Mean x 1482
— Meany -199.2
— Std Dev X 14.86
-175— Std Dev y 9.438
-180—
- °
-185—
— o o
- ] *
~190 — ¢
— %
_ - L)
195E e X, 2e
-200—
— H
— _ eo®
205: Y 4 e ? g..“!...'..o‘. oo
— °
210 | | | S |
1460 1470 1480 1490 1500

cyclenum



slope(ppm/um)

150

145

140

135

130

125

120

atl2_4eY

cyclenum

h 33

— o Entries 82
N b Mean X 1482
— Mean y 132.7
- . Std Dev x 14.86
- - . Std Dev y 6.378
: [ ]
N ™) % %
- o
| [ ]
= 2 5 L.
= FCNC I ) - AP
| : ..
— f.. o0 e [} 8L
: o9 o® s
L o
B 1 | 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 | 1 1 1

1460 1470 1480 1490 1500




slope(ppm/um)

-240

-250

-260

=270

-280

-290

-300

atl2_11X12X

cyclenum

h 34

— o Entries 82
— hd Mean x 1482
__ Meany -263.9
— Std Dev x 14.86
— 4 - Std Dev y 9.646
L e o e,
— P ) %
— .:..‘T.;. 'o.‘ ’o.o“ot,_.
- 0
:_ o° | 34 oo
o KL
— o
— °
B [ ]
L 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 | 1 1 1 1 | 1 1 1

1460 1470 1480 490 1500




slope(ppm/um)

120

110

100

90

80

70

60

50

40

atrl_4aXx

cyclenum

h 40

— Entries 82
— Mean X 1482
— * Mean y 91.38
L % e,
— e ) ) % Std Dev x 14.86
== s : . Std Dev y 17.43
— s o ® o"%.. o..o_‘.
- [ ]
:— ¢ ')
: o0
:_ .. e ...
— )
:_ o®
:_ ®e
— [ ]
— °
— «®
| [ ]
- °
— [}
[ 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 | 1 1 1 1 | 1 1 1

1460 1470 1480 1490 1500




atrl_4aY

h 41

slope(ppm/um)

Entries 82
e Mean x 1482
Meany -0.9216
oo | Std Dev x 14.86
Std Dev y 2.812

%
%% L . e

& s °

® 29

o
L)
.'. )
o9
1]
°
.
1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1
1480 1490 1500

cyclenum



slope(ppm/um)

—-140

-150

-160

-170

-180

-190

atrl_4eX

h 42
Entries 82
Mean x 1482
Meany -171.1
Std Dev X 14.86
Std Dev y 6.925

O._.

| | |
1500

cyclenum




slope(ppm/um)

45

40

35

30

25

20

atrl_4eY

%
°
°

1480

cyclenum

h 43
Entries 82
Mean x 1482
Meany 32.04
Std Dev x 14.86
Std Dev y 6.24
o
‘ [ J
Y s
oo . o° e o 'Y Y
° ‘.
s o o0®
1 1 | 1 1 1 1 | 1 1 1
1490 1500




slope(ppm/um)

=70

-80

-100

-110

-120

-130

-140

-150

-160

atrl_11X12X

cyclenum

_ h 44
— o Entries 82
— b Mean x 1482
= Mean y -118.5
— Std Dev X 14.86
- Std Dev y 12.77
— r
= . . -
— L4 .’ P @ ‘ .. [ ]
— ® .. ® ® (Y 8 ' [ ..‘
— ’. ‘o ° . O s
T :
SR "
= .
I [ ]
[ 1 1 1 | 1 1 1 1 | 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1

1460 1470 1480 1490 1500




slope(ppm/um)

260

240

220

200

180

160

140

120

100

atr2_4aX

cyclenum

h 50

— Entries 82
= Mean x 1482
- e ® e, 0 Meany 203.5
N L) % 8
— } ) & o, | Std Dev x 14.86
l % °® gy o ° °/StdDevy  43.41
L .o e
L y B
- s
- o®
| eg °® g
C ® e,
I )
_ [ ]
_ | | | | | | | | | | | | | | | | | | | | | | | | | | |

1460 1470 1480 1490 1500




atr2_4ayY

slope(ppm/um)

h51
Entries 82
Mean x 1482
Meany -29.02
[ )
*® % * % |sdDevx 14586
° o Std Dev y 3.572
e [ ] ‘ [ 4
° [ L
® o
.. oo
'. [ ] ¢
o0
]
1 | 1 1 1 1 | 1 1 1 1 | 1 1 1
1480 1490 1500

cyclenum



slope(ppm/um)

-65

=70

-80

-85

-90

-95

-100

-105

atr2_4eX

h52
Entries 82
Mean x 1482
Meany -03.82
Std Dev X 14.86
Std Dev y 8.263

o9 .:.

()
'..." [ ‘.. '

| | |
1500
cyclenum




slope(ppm/um)

atr2_4eY

170 . h 53
— o Entries 82
— ° Mean x 1482
165— Meany 145.6
— e Std Dev x 14.86
— ° Std Dev y 7.78
160— e o,
- (]
T °
155 — .
E %
150 — o3
L o
— e
I [ ] o
145 — . s I3 T e ve
- s
- ¥ 0. T s (I
140 — e (1 . )
: .. ® ¢° : ®e ¢ o® )
135 _I | | | | | | | | | | | | | | | | | | | | | | | | | |
1460 1470 1480 1490 1500

cyclenum



slope(ppm/um)

-290

-300

-310

-320

-330

-340

-350

atr2_11X12X

cyclenum

h 54

— Entries 82
— Mean x 1482
— Meany -316.1
__ ' Std Dev x 14.86
- - Std Devy 11.09
— {7 X
L [ Y ® % .o.... .'.. (] ‘..'ﬁ.‘ Po .
:_ ®
— e, 'Y
- Qe
— o
__ [ ]
— [ ]
B 1 1 | 1 | 1 1 1 1 | 1 1 1 1 | 1 1 | 1 1 1

1460 1470 1480 1490 1500




